No. 1 ZF 400m BEHRE R A LR No. 6 BF 400m BHRHf 3 A LR
he 1 &£ 09:30 h$ 34 10:01
BB 4:13.79 K& 4:46.59 BEIE  3:52.67 K& 4:20.55
EIE =35 EE i35
0. ( ) 0. HiF 5 (ke ) ®3 9 6:08.07
1. tfAlB %A (K ) &1 6 5:51.91 1. % K# (FEE ) 3 5 4:42 61
2. ¥ HIRE E/8 ) &1 EiE 2. BB E €7} ) ™3 6 4:50.65
3. WE Bm (kMR ) i1 3 5:13.51 3. IR BR#t (F—EE ) $3 2  4:29.26
4. ZiEHHMY (s 4E ) ®1 1 5:07.97 4. AR A (&R ) ®3 1 4:17.37 X&%
5. £Y1 #E (AW ) ®H1 2 5:09.62 5. KT =8 (0)1F=¥ N ) B3 3 4:34.71
6. /NIl FEHE (F—EE ) ®1 5 5:24.97 6. IUT Kith (FH=E ) ®3 4  4:37.38
1. K EW (& ) @1 4 5:17.46 1. BH #E (hh4E ) 3 8 5:37.81
8. ( ) 8. B&r =|LC (e ) ®=3 7 5:31.28
9. ( ) 9. ( )
No. 2 %F 400m HEF B A LRE No. 7 %HF 100m EkF B A LRES
h® 24 09:36 hZE 14 10:09
EE 4:13.79 K& 4:26.47 EE 1:02.10 K& 1:05.40
=8 B R &EIE B RS
0. ( ) 0. ( )
1. ( ) 1. R SR € 7ic] ) 1 6  1:21.99
2. A K@ (BA ) 2 £ 2. TERE (REZE ) ®1 5  1:18.91
3. HE (R ) ®12 3 5:12.94 3. BH Bt (K& ) &1 3 1:15.71
4. HE 1t (KIEB ) 2 2 4:43.85 4. BHREES (Bf& y &1 1 1:11.49
5. HE fE (K ) B2 1 4:43.51 5 REFYH (5HE ) 1 2 1:12.46
6. ®  FfE (Bg ) ®H2 4 5:49.89 6. BEPSHM (7T y 1 4 1:17.37
7. ( ) 1. R EFHE (fEzBXik ) w1 8 1:24.73
8. ( ) 8. ER BE (KIER y &1 7 1:24.16
9. ( ) 9. ( )
No. 3 =F 400m BEHEFE B A LR No. 8 *=F 100m HikF B A LR
h2 34 09:42 h& 2 & 10:12
B2  4:13.79 K& 4:35.50 BEE  1:02.10 K& 1:06.66
&g (e & IE R R
0. ( ) 0. ( )
1. ( ) 1. 1% 1B (A ) 2 E- 4
2. R XE (ZlEZE ) H3 5 5:37.95 2. 8 HAK (faz &Kk ) ®2 5 1:23.98
3. k% E=x (& ) ®3 3 5:07.14 3. ME B (&t )y 2 3 1:15.72
4. A KF (&1t ) #H3 1 4:38.22 4. 1@ HEHIE (F—EE ) ®H2 1 1:11.43
5. #1/ B&BE (Bg ) 3 2 4:38.45 5. ZBMfzE (k£ ) ®2 4 1:16.77
6. RIEFMF (FakE ) #3 4 5:10.28 6. {ERKIEZE (&1 ) ®H2 2 1:15.61
1. ( ) 1. W #HE (RiIEFE ) 2 6 1:24.45
8. ( ) 8. ( )
9. ( ) 9. ( )
No. 4 BEF 400m HEK B A LR No. 9 %F 100m &= B A LR
R4 09:49 34 10:15
B2 3:52.67 K& 4:30.11 BEE  1:02.10 x£ 1:07.12
&EIE i3] EIE i3]
0. ( ) 0. ( )
1. B W (%R ) ®H1 6 5:39.33 1. ( )
2. T fEHIZ (R ) ®1 5 5:19.90 2. ( )
3. AKHEGE (Bl ) #1 4 5:19.10 3. kXNl & (#nH ) $3 3 1:36.58
4. EF BEW (R ) ®H1 1 4:54.19 4. FHIFEHFN (BfEF ) ®3 1 1:10.05
O N TT (N ) ®H1 3 5:04.27 5. mx Eib (F—EE )y $3 2 1:12.75
6. FREEIIGEN (KIAR ) &1 2 5:03. 21 6. ( )
1. WF =a (E/8 ) i £ 1. ( )
8. ( ) 8. ( )
9. ( ) 9. ( )
No. 5 BF 400m HBHEF B A LR No. 10 BF 100m EkF B A LGRE
R o4& 09:55 hE 1 4 10:18
FEIE  3:52.67 K& 4:19.54 ER 54.19 K& 1:06.18
&EIE =35 &I B
0. ER k% vy 597 ) ®#2 9 5:34.03 0. B%H &KX (et ) 1 8 1:26.84
1. 810 BESA (818 ) ®H2 8 5:15.86 1. HKKEEIKER (B4 ) &1 6 1:21.75
2. 8x #E (EREE#E ) ™2 5 4:56.23 2. AR 1% (R )y ®B1 5 1:17.79
3. R EBF (KIAE ) 12 2 4:31.25 3. R (Reth ) &1 3 1:13.99
4. HHl EF (F—EE ) 2 1 4:25.57 4. hFmF EE (BAFD y &1 1 1:07.41
5. 2@ #EiE (B ) ®H2 3 4:36.71 5. &0 {E%# (FPm ) ®1 2 1:10.09
6. @A EH (1RE&ER ) 2 4 4:41.79 6. BB KE (T ) 1 4 1:14.61
1. ZSHEEA (& ) ®2 6 4:58 83 7. RO 4TH# v 597 y &1 7 1:22.79
8. HAKIRLTER (FHE ) 2 7 5:09.45 8. ME —8§ (BA ) i -4
9. ( ) 9. fElL PEHE (#nM@ ) &1 9 1:29.68




No. 11 BF 100m ik R A LR No. 15 ZF 100m )k F 3 A LR
her 2 & 10:21 i 3 & 10:34
BEE 54.19 RE 58. 84 BEE  1:07.38 X& 1:14.12
EIE B R & B R
0. WT MW (K ) &2 8 1:27.59 0. ( )
1. ¥R £ (4% ) ®H2 7 1:19.95 1. ( )
2. % B (E—EE ) ®2 4 1:15.55 2. g EMW (BRESEEE ) ™3 5 1:40.64
3. HE £FT (F%H ) &2 2 1:13.47 3. 8 BES (BmEF ) th3 3 1:31.08
4. FH £EX (& ) ®2 1 1:05.90 4. hE HX AR ) ®3 1 1:20.14
5. R X (BA ) 2 £ 5. A EFEHMNY EIRBEERE ) 3 2 1:22.07
6. #HE HE (€] ) &2 3 1:14.96 6. XJIBBH (& ) &3 4 1:35.03
1. 5% BN (B3 ) ®H2 5 1:16.88 7. ( )
8. LE FiE (K ) ®H2 6 1:19.56 8. ( )
9. ( ) 9. ( )
No. 12 BF 100m k= B A LR No. 16 BF 100m Fk=F B A LR
b 34 10:24 h= 14 10:36
BE 54.19 RE 58. 86 BEE 59. 56 A& 1:08.82
=8 B R 148 &EIE B RS
0. ( ) 0. ( )
1. ( ) 1. ( )
2. ( ) 2. ( )
3. ( ) 3. T BE (BA ) i -4
4. JIHE  HiE (F—EE ) 3 1 1:04.47 4. T3 KK (EALW ) =1 K&
5. kB &% (FnH ) 3 2 1:26.20 5. tAftEEZ Bh (NMAmE ) Hi 2 1:35.94
6. ( ) 6. B KF (K5 y &1 1  1:34.01
7. ( ) 1. ( )
8. ( ) 8. ( )
9. ( ) 9. ( )
No. 13 ZF 100m k¥ B A LR
b 1 & 10:28
BEE 1:07.38 K& 1:14.39
&I B R 2% &I B Rl
0. I &R (Fm ) ®1 8 1:47.70 0. /Ml HER (Beith ) ®1 9 1:34.70
1. ZK  # (FK% ) 1 7 1:44.25 1. %k HBE (b4 ) ®1 7 1:30.62
2. B EE (E&W ) H1_ 6 1:36.31 2. B Kg (NRF R ) ®1 5 1:24.58
3. HE  IEME (fEz8Kk ) w1 4 1:31.78 3. BE ZE— (B y &1 2 1:18.71
4. IMNT F& (F—ER ) i 1 1:17.00 4. A EFE (B4R ) Hi 1 1:18.70
5. i BH (BEBEX ) 1 2 1:25.30 5. IWT Ak (NNmE ) &1 3 1:21.00
6. SR ti (BA#0 ) 3 1:30.64 6. =% % (EER® ) i 4 1:21.07
1. BF &H (BEBEX ) ®H1 5 1:33.25 1. AR I&HR (TR ) ®1 6 1:26.57
8. mhft A (FrH ) i 9 1:50.91 8. Ly —iF (At ) Hi 8 1:31.99
9. ( ) 9. AZHOEE (7T ) &1 10 1:37.75
No. 14 ZF 100m F)F B A LR No. 17 BF 100m FEj|)F B A LR
R 2 &£ 10:30 h$2 & 10:40
BEE 1:07.38 X& 1:15.02 ER 59. 56 A& 1:06.81
148 =8 =15 148 &IE (=15
0. ( ) 0. ( )
1. ( ) 1. ( )
2. ( ) 2. ( )
3. & EARE (T ) ®H2 3 1:51.81 3. mERMN NIIWm ) ®2 3 1:46.56
4. gEHQ =EY ERF ) #2  1 1:34.25 4 BT =¥F (#nH ) &2 2 1:41.01
5. N EBF (7T ) 2 2 1:42.89 5. ERBZzN (F0H ) $2 1 1:38.53
6. ( ) 6. ( )
1. ( ) 1. ( )
8. ( ) 8. ( )
9. ( ) 9. ( )
2 %8 EIE i3] 2 %A =B i3]
0. ( ) 0. A4 =M (8BE ) ®$2 6 1:31.56
1. % E-3 (hnttmA ) &2 7 1:29.64 1. #iE &8 (R ) ®2 5 1:31.34
2. 8@ +% (FnH ) 2 3 1:23.79 2. BZ2RRK (FE ) 2 3 1:27.35
3. HE £z (FRiE ) B2 4 1:24.20 3. HE (E/8 ) 2 -4
4. = FIF €7 ) #2 1 1:18.52 4. Ak E£BRB (F&ERR ) #2  1 1:22. 84
5. EO E) (EEKHE ) ®H2 2 1:20.71 5. % (818 ) ®H2 2 1:26.88
6. JIF RS (&R ) H2 5 1:25.63 6. BE RX (5% ) H2 i
1. 58 L (K ) &2 6 1:28.42 1. hE #F (B ) &2 4 1:30.37
8. O MF (B&sth ) ®2 8 1:37.19 8. HE &R (k1 ) #2 8 1:36.20
9. ( ) 9. E#E R (BEBR ) H2 7 1:34.47




No. 17 BF 100m FkZF B A LR No. 22 BF 100m 422754 B A LR
her 2 & 10:40 s 1 & 10:51
BEE 59. 56 X£& 1:06. 81 BE 53. 34 X& 1:01.45
3 %8 & B B e &I B
0. fEEFEAXE (BHAIXS ) ®2 6 1:19.48 0. ( )
1. A#* %L (FHER ) &2 8 1:20.30 1. ( )
2. —E FH (8AH ) &2 7 1:19.95 2. f Eth (HK ) Hi 3 1:13.34
3. ME &k (i ) 2 3 1:13.63 3. X IXK (LR ) &1 5 1:14.45
4. FEE & (KGR ) ®2 1 1:07.02 4, AXKHBGE (&1 ) &1 2 1:11.87
5. LA Hth (e E ) 2 2 1:12.76 5. B D& (RSt ) H 1 1:11.50
6. 17 PR (& ) &2 5 1:18.30 6. HE LK (T ) Hi 4 1:13.38
1. kFHF B (Cic] >3 ) &2 4 1:18.22 7. AH = (& ) ®#1 6 1:17.61
8. WA & (it ) &2 9 1:21.84 8. ( )
9. ;I KR=ZEh (k1 ) &2 10 1:22.86 9. ( )
No. 18 BF 100m Fk=F B A LR No. 23 BF 100m N4 754 B A LR
R 3E 10:46 h2 4 10:53
BE 59. 56 = 1:08.35 BEE 53. 34 K& 59.16
&EIE B R &IE B R
0. /NEF WHIK (EREERE ) ®3 6  1:23.33 0. ( )
1. FAREKX (EREE#E ) &3 9 1:28.25 1. 21 EA (B3 ) &2 7 1:08.24
2. v/E FF (e ) ®3 7 1:25.92 2. SHIUEX (HFHH ) &2 5 1:06.32
3. hott BB (& ) &3 4 1:19.37 3. Bl RTF (& ) &2 3 1:04.61
4. INEEKE] (JIINmEm ) ®:3 1 1:08.39 4. T +tiE (BEBXR ) &2 1 1:04.30
5. Hff = (® ) B3 2 1:11.18 5. INTT &K (F—EE ) &2 4  1:04.67
6. AL 1K (&1 ) ®m3 3 1:15.72 6. fEE2EKE (FEE ) &2 2 1:04.34
1. fEh RFE (Bm& ) ®H3 5 1:20.84 1. BR Ef (KER ) 2 6 1:07.74
8. BF EN (K ) ®m3 8 1:26.51 8. Ef5 3IE (NIIWmEm )y &2 8 1:11.42
9. HFER—ER (e ) ®H3 10 1:31.87 9. ( )
No. 19 ZF 100m /2754 R A LR No. 24 BF 100m /2754 R A LR
i1 4 10:48 e 34§ 10:55
BEE 59.97 X< 1:07.58 BE 53. 34 K& 57.71
&IE BF &I B
0. 78 BZE (BAE ) 1 2 1:12.89 0. ( )
1. B8 E#1fE (K% ) i 1 1:11.39 1. ( )
2. R FR (& ) Hi 3 1:13.95 2. BIFF 1B1E (B ) &3 4 1:02.68
3. BF #EF (B8 ) H1 4 1:18.89 3. IIE #f (Gic] >3 ) $3 5 1:02.70
4. ( ) 4. RE HF (FEE ) ®H3 1 1:00. 14
5. ( ) 5. BE K& (RER ) ®3 2 1:00.69
6. ( ) 6. 55 1 (E5»m ) ®$3 3 1:02.01
1. ( ) 1. ( )
8. ( ) 8. ( )
9. ( ) 9. ( )
No. 20 ZF¥ 100m N2 T754 B A LR No. 256 ZF 100m HEHRHf B A LR
2 F 10:48 hE 1 F 10:58
BE 59.97 A= 1:02.19 ER 56.18 K& 1:01.82
&g =] 148 EIE B
0. ( ) 0. ( )
1. ( ) 1. ( )
2. ( ) 2. ( )
3. ( ) 3. HK M (Prg ) Hi 2 1:27.32
4. FH B (FE&ERR ) 2 1 1:13. 11 4. BH EBH (A8 ) Hi 1 1:24.63
5. 8 HAK (2 &K ik ) ®H2 2 1:27.03 5. RIF t&F (hnitE ) ®#i1 3 1:27.77
6. ( ) 6. ( )
1. ( ) 1. ( )
8. ( ) 8. ( )
9. ( ) 9. ( )
No. 21 ZF 100m /N2 T754 B A LR
h¥ 3 & 10:48
BEE 59. 97 A& 1:04.11
EIE i3] 2 %A =B i3]
0. ( ) 0. ( )
1. ( ) 1. LB &= (F ) 1 6 1:13.43
2. ( ) 2. K& Z (RER ) Bl 4 1:12.23
3. ( ) 3. INRRRE R (BEEXME ) ®m1 3 1:11.34
4. ( ) 4. XEH FR (F55th ) ®1 1  1:08.46
5. ( ) 5. K INE (R8st ) ®1 2 1:09.05
6. EBLL FniE (F—ER ) H3 3 1:12.53 6. FFUBIXAE (K% ) &1 5 1:12.29
1. BIA XF (B1ude ) ®m3 1  1:05.66 1. A EH (EE®R ) ®m1 8 1:18.19
8. mx = (B ) ®3 2 1:05.80 8. EEE #P (BEBR ) ®1 7 1:16.41
9. AR H=E (& ) &3 4 1:16.13 9. ( )




No. 26 ZF¥ 100m BHEF B A LR

th2 2 & 11:03

EE 56.18 & 58. 86
148 &I B e 340 &I B
0. ( ) 0. fElh BEHE (0@ y Bl 8 1:19.40
1. ( ) 1. T EBERE (K y 1 4 1:11.94
2. ¥ 2 (EA ) H2 £ 2. 8l HE (b4 ) ®H1 3 1:11.60
3. M)l BR (T ) &2 2 1:22.97 3. K —E (€31%0 V) ) ®1 5 1:12.34
4. EE B (HH y B2 1 1:19.44 4. BHH NE (TBE ) &1 1 1:07.62
5. J% #bxE €17:ic] ) ®#2 5 1:30.32 5. /ML R (Besth ) &1 2 1:09.34
6. HMILFBAZE (EBmE )y 12 3 1:27.01 6. Btk (FER ) ®m1 6 1:13.08
1. BF #wHE (4 ) &2 4 1:30.20 1. T =A (BX ) = -4
8. ( ) 8. B =3 (X#0 ) i ZiE
9. ( ) 9. &% X (EzBEXK%k ) &1 7 1:13.86
248 &EIE B R 448 &EIE B R
0. #E #7t A E-ES ) B2 6 1:14.03 0. v F A (EHm y &1 7 1:05.64
1. @ #x (RER ) &2 7 1:14.92 1. |HE =& (EREE#E ) @1 8 1:05.85
2. XY = (% E ) 2 5 1:10.58 2. @ HRE €] y &1 4 1:04.63
3. Wy DR (Fe:th ) ®2 3 1:08.58 3. @F B, (F&ERR ) ®1 3 1:03.13
4. HE 1t (KIEB ) &2 1 1:02.05 4. FEEEN (B ) &1 2 1:00.32
5. b8 FE (fik ) 2 2 1:04.50 5. MERERE (HK ) H11 59. 84
6. fEE FF (x4ss ) &2 4 1:10.45 6. ML IEEk (N Yy i1 6 1.05.41
1./ MfE (B ) ®H2 9 1:16.45 1. =H =1 (BA ) = EiE
8. T/INERAELE (EH ) &2 10 1:16.57 8. ®H 1% (BAFD y Bl 5 1:04.77
9. §R # (BRI ) $2 8 1:16.30 9. AE 1% (F % ) &1 9 1:09.83
No. 27 %F 100m HBHEF B A LR No. 29 BF 100m HBHF 8 A LR

h2 34 11:08 h& 2 & 11:20

BEE 56. 18 K& 1:00.60 BEER 49. 88 & 55. 55

&g B R 148 &g B Rl

0. ( ) 0. ( )
1. ( ) 1. ( )
2. WAEDF M (%7H ) &3 4 1:19.32 2. ( )
3. FEE B (Bsith ) #3 3 1:18.19 3. FHKEKX (kO y B2 2 1:15.88
4. i/ BHE (Bg ) #3 1 1:02.27 4. EW BEX (K ) B2 1 1:14.68
5. RIEE M (FaRE ) &3 2 1:08.36 5. &t 1&X (KOs ) &2 3 1:19.32
6. At EF (EREESE ) ™3 5 1:22.71 6. HIl KW (xq4ss ) ®H2 4 1:20.03
7. £ B (EREE#E ) $3 6 1:23.77 7. ( )
8. ( ) 8. ( )
9. ( ) 9. ( )
No. 28 B¥ 100m HRFE B A LR

o 11:11

EE 49. 88 & 57.23
148 & B B 248 b= ] B
0. ( ) 0. XEF (TBE ) &2 8 1:17.99
1. ( ) 1. ARBHER (M4t ) ®2 5 1:13.37
2. ( ) 2. % WA (A ) 2 1
3. A *HE (EALW ) £ 3. AIEF K (FH y 2 2 1:08.12
4. LN ET (A ) 1 1 1:16.68 4. INE LA N R y &2 3 1:08.71
5. AR HiE (BEE®R ) &1 2 1:25.90 5. BAKB KA (Bt ) 2 4 1:08.88
6. ( ) 6. &  BuiE JIIRNE ) B2 1 1:04.84
7. ( ) 1. BE Et# (EERX ) H2 KK
8. ( ) 8. [ #w (818 ) ®2 6 1:15.33
9. ( ) 9. hE == (X&E ) ®&2 7 1:15.57
2# EIE B ] 3#A =B B ]
0. ( ) 0. W B (FHH ) &2 7 1:07.23
1. BiR =z (FEH ) &1 1 1:05.50 1. E@ KM (TBE ) 2 ZE
2. BIR 3= (K ) #1 6 1:18.09 2. EH &+ €] ) $2 8 1:07.57
3. Bl KHE (PR ) ®1 4 1:15.98 3. A &{- (tate ) &2 1 1:04.29
4. IR/ TREB (7T ) @1 3 1:13.05 4. F E# (F—EE ) 2 2 1:05.52
5. WA #%XK (7T ) ®1 5 1:16.53 5. 4t BR&E (RER ) ®2 3 1:05.86
6. 2% FNE (B 29 ) 1 2 1:10.51 6. & & (B9 ) &2 6 1:06.64
1. W% 2R (BEKHE ) & Kig 1. "R &% (B ) ®H2 4 1:06.20
8. A%l & A ) &1 7 1:18.17 8. £JIISEKER (BEE®R )y B2 5 1:06.30
9. ( ) 9. Bl mE#& (BKE ) &2 9 1:09.14




No. 29 EBF 100m BHEF B A LR
th2 2 & 11:20
EE 49. 88 & 55. 55
448 &I B e 2% &I B
0. WE FHiE (K y B2 9 1:05.57 0. ( )
1. BRE EX (BE®H ) &2 5 1:01.97 1. BB FIR (& ) &1 5 2:48.53
2. FBAREARER (K#1 ) H2 £ 2. ZEHMY (b4 ) 1 4 2:44.84
3. WE  EiE (Hk ) 2 3 1:00.28 3. BHEES (S y 1 3 2:41.11
4. B RFE (FE ) #2  1 58. 40 4. BX EH (%0H ) &1 1 2:33.04
5. mhFf 24 (R8st ) ®2 2 58. 46 5 REFYH (HHEmE ) &1 2 2:37.54
6. Bk =D (NNE ) ®H2 8 1:03.72 6. #  dIFE (EA ) &1 -4
1. ZHEREA (& ) 2 4 1:01.43 1. B9 ®%EB (EALW ) 1 6 2:48.82
8. FEJHzN (HEE ) 2 6 1:02.95 8. MTEALE (BIEZ2E ) &1 7 2:53.27
9. ®iF BRL (R8st y &2 7 1:03.68 9. ( )
No. 30 BF 100m HHRHF B A LR No. 32 ZF 200m fEAAFKL— B A LR
R34 11:29 he o 4 12:34
EE 49. 88 & 54.23 EEIE  2:16.38 X& 2:23.37
14 &EIE B A b= ] B R
0. ( ) 0. ( )
1. ( ) 1. ( )
2. ( ) 2. 7B K& (A ) 2 -4
3. LR E (KOs ) H3 2 1:17.26 3. hEH (hote @ ) ®H2 3 2:58.09
4. KIEKER (g ) #H3 1 1:13.51 4. #E 131 (f0m ) 2 1 2:40.29
5. @A FEX (fnH ) ®3 3 1:20.39 5. ® BEX (E&W ) ®2 2 2:54.48
6. ( ) 6. F- k= (K5 y &2 4 2:59.72
7. ( ) 7. ( )
8. ( ) 8. ( )
9. ( ) 9. ( )
No. 33 &F 200m MEAAXFL— B A LR
h$ 34 12:38
FEE 2:16.38 KL 2:23.48
248 &I B R &I B Rl
0. ( ) 0. ( )
1. BB [E#H (BEREES ) &3 5 1:09.22 1. ( )
2. ¥ 1ARE (7 ) ®H3 2  1:04.51 2. ( )
3. iIE EA (EREEEE ) $3 4 1:07.23 3. Bifr BF (Beth ) ®3 3 2:51.47
4. A% 145 a7 ) 3 Ei-) 4. NEFEHMY (EIREEE ) $H3 1 2:35.37
5. AT B (&R ) &3 1 1:03.21 5. ERIL  FnTE (E—EE ) ®3 2 2:45.66
6. &8 E2MI (# ) ®3 3 1:07.05 6. ( )
1. MR HE (HFHEmE ) ®H3 6 1:12.25 7. ( )
8. T 5 (g ) ®3 7 1:17.85 8. ( )
9. ( ) 9. ( )
No. 34 BF 200m fEAAFRL— B A LRES
the 1 4 12:42
BB 2:01.92 X& 2:21.44
348 EIE =] =g R R
0. IWF Kith (FHE ) 3 5 1:00.41 0. ( )
1. JKBHIAER (7T ) ®3 8 1:03.15 1. ( )
2. Bd B (B 5 y 3 7  1:02.26 2. FRENEA (KIER ) ®1 5 2:44 .46
3. AT EH (hmsa AR ) ®H3 4 59. 35 3. FAF B (1RE&ER ) &1 3 2:33.70
4. thft 3G (Besth ) #3  1 54.59 4. |LFEF BE (GEEN| ) &1 1 2:26.35
5. A% #81A (RE&ER ) ®H3 2 54.70 5. #hE EFE (R4 y &1 2 2:31.65
6. it {ZER (7 ) ®H3 3 59.12 6. BB KE (7T ) ®1 4 2:34.65
1. TEKRI® (&1Lt ) &3 9 1:04.36 7. ( )
8. AT =& (&R ) B3 6 1:02.03 8. ( )
9. E¥ @E (b4 ) 3 10 1:06.96 9. ( )
No. 31 Z%F 200m {EAAKRL— B A LR No. 35 BF 200m {EAAKL— B A LGRE
R 14 12:30 h& 2 & 12:46
EEIE  2:16.38 X& 2:30.24 EEE  2:01.92 X& 2:16.28
148 EIE R0 EIE R R
0. ( ) 0. ( )
1. ( ) 1. T (€34 ) &2 7 3:00.59
2. ( ) 2. —f&E FHE (8AE ) 2 4 2:41.49
3. KARBEE (1R ) &1 1 2:49.17 3. B #E (EREE#E ) $2 3 2:38.88
4. thfE M (fEz8Kk ) 1 2 3:03.81 4. @A EH (1FE&ER ) $2 1 2:26.28
5. thjE 1M (fEz8&Kik ) @1 3  3:05.62 5. ¥@ %l (B ) 2 K
6. ( ) 6. &1L PE3A (888 ) 2 2 2:38.45
7. ( ) 1. NEKER (BR®E ) ®H2 5 2:49.14
8. ( ) 8. EA k% a7 ) 2 6 2:58.25
9. ( ) 9. ( )




No. 36 BF 200m f@EAAKL— R A LR No. 40 EBEF 50m FHikF 3 A LR
e 3 & 12:50 s 1 & 13:05
BEE 2:01.92 xX& 2:11.41 BE 25.66 RE 31.40
&8 B e 148 &I B
0. ( ) 0. ( )
1. ( ) 1. 5% 1BX (et ) @1 5 40. 77
2. BF EN (Kl ) 3 K& 2. HR 18 (hnttH ) &1 1 38. 85
3. hft {ZEB (Fa ) 3 3 2:25.04 3. Kk X (EnwE ) @1 3 40. 31
4. W MBE (RE&ERR ) 3 1 2:12.95 4. A BEX (5H™E ) 1 4 40. 60
5. RE E (F&E ) 3 2 2:16.93 5. T3 &M (& ) 1 6 44. 25
6. i = (& ) 3 4 2:28.22 6. HX EX (g ) Hi 2 40.14
1. 58 & w749/ ) $3 5  2:55.47 1. wE —§ (A ) i EiE
8. ( ) 8. ( )
9. ( ) 9. ( )
No. 37 *%¥F 50m H\ikEF B A LR
ee]= 12:55
BE 29. 81 RE 30. 82
14 & & B R 248 =} =i
0. ( ) 0. kO &% (€3%0 V) ) H1 7 37.32
1. ( ) 1. 88 & (B3 ) Bl 6 37.22
2. ( ) 2. B B (FHR ) @1 5 36. 50
3. L R (Fm ) @1 3 51.79 3. B KEHE (7T ) &1 3 34. 44
4. NI FERE (F—ER ) H1 1 39. 52 4. LF BE (BA#0 ) ®#1 1 32. 11
5. MAREE (B2 ) 1 2 42.51 5 & (Faith ) &1 2 33.99
6. ( ) 6. 58 =/l (& ) i EiE
7. ( ) 1. R = (EREESE ) &1 4 36. 00
8. ( ) 8. T EE (K5 ) @1 8 37.88
9. ( ) 9. Il FEE (#0H ) i EiE
No. 41 BF 50m HikFE B A LRI
& 13:09
BE 25. 66 K& 29.19
24 &g B 14 & IE B
0. ( ) 0. ( )
1. 7 Bk Ze (€7 ) i 3 35.94 1. ( )
2. Bl BE €7 ) i 6 38. 84 2. ( )
3. EBYHS (& ) Bl 2 35. 87 3. FriligE—ER (Resith ) &2 4 51.69
4. BHEES (Efm&E ) 11 33.72 4. WA FHR (BEBR ) ®H2 1 39.95
5. BEMSH (7T ) 1 4 35. 96 5. BF A (EEBX ) B2 2 42.53
6. JKEF B (RER ) i 5 36. 87 6. ERLL AR (BHAIES ) ®H2 3 44,717
1. R M (&2 BKik ) Bl 7 39. 37 1. ( )
8. £ DR (BAFN ) 1 8 39. 81 8. ( )
9. ( ) 9. ( )
No. 38 %F 50m BEikEF B A LREE
ee]= 12:59
BEE 29. 81 RE 31.47
&g B 248 &IE B
0. #E F7E Ol ==E ) B2 6 40. 69 0. #EF HY (k£ ) ®2 17 38. 56
1. RE BE® (BfE ) ®H2 7 41.85 1. thi& xR (BEBR ) B2 6 37.84
2. Wt HE (BIEZE ) #2 4 39.62 2. KET & (€7 ) #2 3 33.25
3. BKE B (&t ) B2 3 35. 46 3. R XK (A ) &2 EiE
4. =EMZE (s 4E ) B2 2 35. 21 4 FBH EX (F ) B2 1 30. 97
5. kR KIEZE (B1de ) ®2 1 34. 21 5. B %T (5% ) B2 2 32.97
6. £ BHANK (faz &Kk ) B2 5 40. 45 6. HE HE (€3] ) B2 4 34. 21
1. %A % (Fm ) B2 8 42.78 1. R E=H (hk{E ) ®2 5 35.93
8. k% B (E/8 ) 2 EiE 8. L¥ BEZ (P& ) B2 8 38.91
9. BFUVLY (KOdx ) #2 9 44.00 9. #EF #¥X UNMmE ) #2 9 42.34
No. 39 %F 50m FHikF 8 A LR No. 42 BF 50m HikFE B A LRBE
=a)= 13:01 an}cd 13:13
BEE 29. 81 & 30. 98 BE 25. 66 K& 29.07
&8 e &g R
0. ( ) 0. ( )
1. ( ) 1. ( )
2. ey EEE (KO3 ) H3 5 43.98 2. ( )
3. MR XB (FIEEE ) B3 3 37.68 3. ( )
4, BFIFEFAF 2EF ) #3 1 32.68 4. He B (E5»m ) #:3 1 33.24
5. #iffr BEF (B&ith ) 3 2 34.70 5. ME BF (B1de ) &3 2 33. 74
6. AREHMNY (EBEE ) $3 4 38. 48 6. ( )
1. ( ) 1. ( )
8. ( ) 8. ( )
9. ( ) 9. ( )




No. 43 *F 50m  EkFE FEPN Y No. 46 BF 50m  FikF B A LRR
g1 & 13:16 i 1§ 13:24
BEE 32.63 RE 35. 56 BE 27.69 RE 32.38

148 & B B e 148 &I B
0. ( ) 0. ( )

1. ( ) 1. ( )

2. ( ) 2. ® HEKHER (Jnmde ) 1 4 47.82
3. HK 13 (g ) 1 4 52.34 3. EEERERE (AW ) &1 1 40. 56
4. hft ER (%7H ) Bl 2 49.74 4. PRE —H (R8st ) ®H1 b 49.12
5, Xig M%E (BEE ) 1 1 49. 63 5. INBHEESE (k1 ) &1 2 44.72
6. BF L# (BRKME ) H1 3 52.33 6. AlF =R (BE% ) 13 47.38
1. ( ) 1. ( )

8. ( ) 8. ( )

9. ( ) 9. ( )

248 &EIE iS5 248 EIE B
0. BH E&F (8AH ) #1 8 44.74 0. ’ZOBE (7T ) ®#1 7 44.55
1. B M= (& ) ®H1 7 43.79 1. B RE (Fm ) ®H1 5 42. 68
2. B tiE (BA#0 ) ®1 6 43.16 2. EHk BE (E&W ) Bt 1 40. 07
3. AUl #E (EaW ) @1 3 39.92 3. B K (EREERE ) 1 8 44.95
4 BEX EBEH (FnH ) &1 1 34.44 XEF 4 Wk BE (hh4E ) Bt 2 41.27
5. INT F& (F—EE ) Bl 2 35.38 X&£#1 5. &8 ZHEl (H ) ®i EiE
6. [ IRME (&2 BKik ) ®1 b 41.75 6. fEk £ (RREEEE ) &1 4 42.50
1. RAGRKE (& ) 1 4 41.18 1. Nt FHE (A ) i EiE
8. L% EM (H7K ) 19 46. 24 8. ™ A (KR ) &1 3 42.19
9. KK 18 (FK% ) ®H1 10 49. 36 9. uF —iE (At ) 1 6 42.99
No. 44 %=F 50m  FikFE 8 A LR

oo} 13:20
BEE 32.63 K& 34.57

148 &I B R 348 &I B
0. ( ) 0. st [EE (EREE#E ) 1 7 38.58
1. ( ) 1. BIER KA (LR ) &1 8 39.28
2. ( ) 2. B¥ X IR ) 1 6 38.03
3. i = (BOAIZS ) ®2 3 50. 96 3. &1 EBR (LR ) &1 2 35. 89
4, & STy ] ) #2 1 47. 61 4. A EFE (R4 ) Hi 1 34. 60
b, B FA=E (T ) ®2 2 49. 60 5. T Atk (JnMAm ) & 4 36.02
6. ( ) 6. BE ZE— (7 ) ®1 3 35.99
1. ( ) 1. =% 145 (BREBXR ) Bl 5 37.10
8. ( ) 8. HiFEZEN NIIWm ) ®19 43.58
9. ( ) 9. X KF (K ) 1 10 45.51

No. 47 B¥F 50m  FkEF B A LR
g 13:26
BE 27.69 RE 31.70

248 &g B el 148 & E B
0. N EH (#7T ) #2 8 46.76 0. ( )

1. L =R 2fEF ) ®2 17 43. 82 1. ( )

2. @O #kF (Feith ) $2 6 43.10 2. ( )

3. JIAT JHR (&R ) ®2 4 39.18 3. ik EAH (BHAIES ) #2 3 47.53
4. = F1F (€% ) ®2 1 35. 31 4. #ME EHK (EREERE ) B2 2 46. 43
5. &0 =MW (BRKHE ) ®H2 2 37.94 5. FFH Ek (R&Ww ) ®2 1 43.15
6. #t 1z (F1E ) 2 3 38.05 6. ( )

7. 1@ ®HTE (F—ER ) ®2 5 39. 25 1. ( )

8. @l DF (JIIAmE ) #2 9 47.59 8. ( )

9. ( ) 9. ( )

No. 45 #%¥F 50m  FikFE B A LR
=a)= 13:22
BER 32. 63 K& 34. 49
&g B R 2% &g B R

0. KD FH (57H ) #3 10 53. 71 0. HE E&# (hk{E ) #2 9 43.98
1. EH HE (EA ) #3 8 49. 49 1. % E2PEN| (A8 ) #12 4 39.56
2. RINBBD (# ) #3 5 43. 14 2. BZ2RRK (& ) ®2 5 39. 60
3. B KFES 2EF ) ®H3 4 42.32 3. ith& #EF (€25 ) &2 3 38.62
4. HE HX JNAsR ) ®H3 1 35.59 4. BE RXK (5% ) B2 2 38. 47
5 FL  F0iE (F—EE ) ®H3 2 39. 68 5. ;IO k=zEh (ki ) H2 1 36. 44
6. @Mz Ei (B—EE ) ®H3 3 40. 39 6. LN E= (BEBR ) B2 8 40. 89
1. kB BTE (EREERE ) H3 6 46. 66 1. ®BE L8 (F& ) ®H2 17 40. 56
8 MEUDSH (ER® ) #3 7 48.16 8. =il f@#H (€350 ) #2 6 40. 34
9. @t WA (EREERE ) H3 9 49. 71 9. 28 KX (BER ) ®H2 10 44.32




No. 47 BF  50m Tz 5 A LR No. 50 &ZF 50m ~"ZI54 B A LR
her 2 & 13:26 s 2 & 13:36
BEE 27.69 RE 31.70 BE 27.73 RE 28.99
3 %8 & B B e &I B
0. Ak E£R (R ) @2 9 36. 88 0. Il =k (8 ) B2 8 39. 06
1. &k & (JIIWm ) ®2 17 36.09 1. ® 'L (AW ) #2 7 36. 20
2. EH Hth (Rt ) ®2 b 34.61 2. FE #FE (RER ) B2 6 35. 81
3. 12 HER (ZE ) 2 6 34.99 3. Wy BEE (F55th ) 2 5 35.20
4. FEE & (KGR ) ®H2 1 31.16 X&£#r 4. SHEHPY (FAER ) H2 2 32.37
5. E EfE (€7 ) ®2 2 33. 26 5. FH ¥E (&R ) #2  1 32.23
6. FEREKXH (BHAIXS ) 2 4 34.22 6. k= (K ) ®H2 3 34.18
1. kFHF B (Cic] >3 ) 2 3 34.03 1. B ZF (B ) #2 4 35.07
8. —E F (8AH ) #2 8 36.52 8. BEXK =M (BEE ) ®H2 9 39.27
9. LA & (At ) ®2 10 317.26 9. ZAEBEZETE (B23 ) #2 10 40. 23
No. 48 BF 50m  FikEFE B A LR No. 51 %&F 50m N2 TS5A B A LRRE
iz 13:30 hE 3 F 13:37
BE 27.69 RE 30. 73 BEE 27.73 K& 29. 56
14 & & iS5 EIE B
0. ( ) 0. ( )
1. ( ) 1. ( )
2. Ek FE (BEBX ) @3 EiE 2. kH #FiF (RREEEE ) &3 5 40. 88
3. HFxx B (E%»m ) ®H3 1 38.87 3. HF E=E (& ) #3 3 34.78
4. AO WE (EAN ) &3 2 40. 81 4. BH XKF (& 1de ) &3 1 30. 47
b, IZE EA (EREES ) #3 4 44.39 5. AR H=*E (H ) 3 2 33. 31
6. HEERI—ER €3 ) @3 3 41.94 6. kB FITE (EREEHE ) &3 4 40. 36
1. ( ) 1. ( )
8. ( ) 8. ( )
9. ( ) 9. ( )
No. 52 BF 50m N4 TJ54 B A LRI
g 1 & 13:39
BE 23.98 K& 27.80
248 &IE B R 148 &I B
0. /NEF ¥HIK (ERREEH ) ®3 9 38.52 0. ( )
1. hE FH €3 ) 3 8 36. 81 1. ( )
2. B 1&E (& ) 3 4 35.12 2. ( )
3. HiE Ex (# ) ®3 2 32.98 3. Bl & (Jmm ) & 2 38.88
4, INEEKE] IIWm ) ®3 1 31.62 4. A WA (KER ) ®11 35. 11
5. AL = (BEERR ) 3 3 34.69 5 WA #%X (7T ) &l 3 40.78
6. AIR At (BRKHME ) ®3 5 36. 09 6. ( )
1. ' RE (BHE ) H3 6 36. 21 1. ( )
8. Hf& EN (Kes ) ®3 7 36.72 8. ( )
9. 1O WX (BE%H ) @3 10 42.02 9. ( )
No. 49 #%¥F 5m NE2T754 B A LR
ee]= 13:33
BE 27.173 RE 30. 02
148 &g B 248 EIE B
0. ( ) 0. KKELIKER (E9m ) &1 9 35. 62
1. ( ) 1. Xkl IX (LR ) ®1 5 32.28
2. ( ) 2. it Eth (K ) &1 3 31.32
3. R #&F (it E ) ®m1 2 42.15 3. =@ = (A ) Hi EiE
4. BR FH (BER ) Bl 1 39.03 4. E D (REsth y 1 2 31.04
5. hft A (57H ) 3 47.19 5. ¥t i (F5:th ) &1 1 30. 96
6. ( ) 6. MHE Dk (B ) 1 4 31.96
7. ( ) 1. AKABGE (& ) &1 6 32.69
8. ( ) 8. KX —H @y 47 ) &1 8 34. 46
9. ( ) 9. =% i (EERX ) ®#i1 7 32.99
No. 53 BF 50m N2 T75A B A LRBE
2 & 13:41
BE 23.98 K& 26. 74
2 %8 &g i3] 148 &g i3]
0. ( ) 0. ( )
1. B F (ki ) f1 8 37.90 1. ( )
2. Aft EF (BEE ) 1 5 34.92 2. BT =TF (F0H ) #2 4 41.90
3. Bix EH (BEX ) f1 4 33.60 3. BA il (K ) H2 2 36.83
4. FER FR (& ) 1 2 32.48 4. IUT HEH (=K ) #2 3 36. 95
5 7 Ik zZE (€] ) ®1 1 31.94 b, {gB¢ HI#E (R8st ) 2 K&
6. lBAK ZEMW (&1t ) @1 3 33.33 6. & HEwx (888 ) ®2 1 34.48
1. B S M (#7T ) H1 6 35.07 7. ( )
8. 1k W (BEBX ) @1 7 36. 95 8. ( )
9. ( ) 9. ( )




No. 53 BF 50m N2 TS5A 8 A LR
her 2 & 13:41
BEE 23.98 RE 26.74
248 & B B e
0. ERIEZD (RER ) B2 6 36. 36
1. WA & (At ) B2 17 36. 85
2. &1l [Esh (8AH ) B2 4 32.59
3. AR B (F&sth ) B2 1 31.83
4. IRZTFRAB (&L ) 2 2 32.07
5 Il e (hk1E ) B2 3 32.49
6. ZEUF  HREE (s 4E ) B2 5 35.76
1. BIE = (BE% ) B2 8 37.70
8. #r T E/8 ) 2 EiE
9. BN A (BEX ) B2 9 38.58
34 &EIE B R
0. =8 3IE (JIINEg ) ®2 8 30.78
1. I /K (F—EE ) B2 5 29.55
2. §#HLUEKX (FHER ) B2 1 30. 14
3. FA EH (REERR ) 2 4 28. 89
4. -5 R (BE ) B2 1 27. 63
5. BB EKH (F&E ) B2 2 28. 39
6. B =i (BEERX ) ®2 3 28.78
1. F 5K (FE ) 2 9 31.73
8. Eih EBA (B2 ) B2 6 29. 66
9. FrF (R ) ®2 10 32.53
No. 54 BF 50m N2 T54 8 A LR
hE 3 & 13:45
BEE 23.98 K& 25.50
&I B R
0. ( )
1. hE kth (KAgx ) B3 17 37.86
2. BIFF (1B (BIE ) #H3 5 28. 82
3. IIe &0 Gic] >3 ) #3 4 28.44
4 BE RF (RER ) B3 2 27.83
5 RE k% (F&E ) #3  1 27.15
6. 58 1 (EHnmE ) ®H3 3 27. 86
7. hnttBAHETR (# ) ®3 6 30.53
8. ( )
9. ( )
No. 55 #%H¥F 50m BHk B A LR
e 1 4 13:47
BE 26.28 RE 28.92
148 &g B R
0. ( )
1. ( )
2. ( )
3. AF LH (BRKHE ) Bl 2 40. 83
A4 TREE GRR (Fm ) Bl 3 41.25
5, &k 13 (g ) #1 1 38. 61
6. ( )
1. ( )
8. ( )
9. ( )
248 &g B R
0. At A% (AR ) i EiE
1. BH EBEB#& (A8 ) #i 4 36.17
2. MARES (B2 ) 1 8 37.96
3. L¥H EmM (K ) ml 2 34. 80
4. ER BE (KIER ) Bl 1 33.50
5. & DR (BAFN ) 13 35.18
6. EEH K (B2 ) Bl 17 36. 70
TR N (FAR% ) ®m1 5 36. 46
8. BN #KE (BEBX ) Bl 6 36. 48
9. AR DE (#0HA ) 19 41.06

348 b= ] B
0. tB H== 3] ) 1 8 32.99
1. INREEEAR (BRXHKE ) ®H1 5 32.09
2. K INE (R8st ) 1 4 31.71
3. RARKFE (& ) 13 31.11
4. EHE Eft (K% ) 11 29.26
5. KH f{F&R (F55th ) 1 2 30.42
6. & oI5 (BA ) ®i EiE
1. FFlUBIEE (K ) 16 32.44
8. EH F (ki ) H1 9 34.85
9. W EBm (E/NE ) 17 32.95
No. 56 Z%F 50m BHF B A LR

thz 13:51
BEE 26. 28 K& 27.45

148 EIE B
0. #HILmBAZE (Bf& ) ®H2 8 38.91
1. #&% = (EE ) ®H2 9 39.26
2. F 2 (A ) H2 EiE
3. BN wE (&1 ) H2 2 36.08
4. )Il% #E (P ) ®H2 3 36.43
5. #lL DE N ) ®H2 4 37.09
6. hlE BEF (EfE ) H2 6 37.65
1. BR #% (7 ) ®H2 5 37. 61
8. BBV &LY (KOdg3 ) 2 1 34.55
9. NE EfE&F (#0H ) ®H2 17 38.15
248 &I B
0. ZEHEZETE (B3 ) ®H2 6 35.83
1. % & (BA ) H2 EiE
2. BR ImjE (hk{& ) H2 EiE
3. BK xR (BEE ) ®H2 3 34.39
4. trig E (BHAIES ) ®2 4 34.97
5. F/NERRE (B ) H2 2 33. 66
6. A K& (A ) ®2 EiE
1. #E FTE (JNAsR ) H2 1 32. 81
8. EBEF BEH# (5% ) ®2 5 35. 60
9. Il Bk (T ) ®H2 17 36.72

3#f &EIE B R
0. F-Mpk=E= (K ) ®H2 8 33.08
1. XYy TR (et ) &2 17 32.52
2. FHE D (kK ) H2 4 31.24
3. BB FnE (isk ) H2 2 29.50
4. HE 1€ (KIER ) ®H2 1 29.03
5, Z Bz (hk{E ) ®H2 3 30. 01
6. SHEFY (FEER ) ®H2 5 31.53
1. f5EH FF (r1ss ) ®H2 6 31.67
8. ¥’ Ehipia (B% ) H2 9 33.83
9. 4R #F0 (BEffiily ) 2 10 34.80
No. 57 #%¥F 50m BHfk B A LRB

g 13:55
BEER 26.28 K& 27. 46

148 &g i3]
0. ( )

1. i RE (EE=R ) ®H3 8 38.58
2. kH #FF (RREEHE ) 3 2 36. 31
3. £ By (EREERE ) H3 1 36.20
4 AREHMY (EBEE ) H3 3 36.76
b EZ EbH (BER ) 3 4 36.99
6. E@ FE (EAN ) H3 6 37.75
1. H#H it (Gic] > ) ®H3 5 37.50
8. Ry EEER (KOg3 ) ®H3 7 38.29
9. ( )




No. 57 #%F¥ 50m BHE B A LiREE
hiE 3 4 13:55
BEE 26. 28 RE 27.46
248 & B B e
0. A% EHM (BRBEERE ) ®3 10 35. 86
1. kH BTt (RREERE ) H3 9 35.73
2. KB EF (&1 ) ®3 5 34.39
3. HF EFE (® ) #H3 3 32.01
4. g1/ BEE (B ) ®3 1 28. 96
5. oK HBE (7 ) H3 2 30.15
6. BFH =& (FnH ) ®3_ 4 34.11
1. BEE W (FBith ) ®3 7 35. 58
8. MAWTH (%7H ) H3 6 35.06
9. HY REM (RREESH ) H3 8 35. 67
No. 58 B-F 50m BHE CEENY:
iz 13:58
BER 22.13 RE 26. 60
10%3 ( & & iS5
. )
1. INE D (Jnmie ) ®#i 1 32.71
2. )l K& (Keg ) &1 2 35. 07
3. BA &® (Kis ) ®1 3 35. 09
4. MBEEA (& ) ®H1 5 35. 96
5 It &FE (A ) i ey
6. ME —§ (EA ) w1 £
1. 8 BEX (Jnmdt ) 1 4 35.72
8. ( )
9. ( )
248 &I B R
0. Al iR (BRE% ) ®H1 8 35.14
1. B +@& (E&W ) i EiE
2. Kk X (B45m ) &1 7 34. 49
3. ')l K (R ) f1 4 34.25
4. Hxk BE (& ) Bl 6 34.33
5 Az 0OBE (#7T ) i 9 35.73
6. Bl i (8 ) 13 34.16
7. WA #%X (#7T ) H1 2 33.58
8. mIR == (5% ) 1 29. 68
9. M EH (BRKHME ) @1 b 34.217
348 b= ] B el
0. &kl EA (T ) i 9 35.39
1. B EBEX (Fm ) 1 4 33. 56
2. WA ExL (A ) H1 2 33.29
3. HEW & IIWm ) 1 34.42
4. ;xH B (g ) &1 8 35.00
5 % X (82 BKik ) #11 33.25
6. HFTEEZEN (JIlNE ) Bl 3 33.34
1. BR 2 (it E ) 6 34. 36
8. 1M = (Kl ) ®H1 10 35. 62
9. XK R (g ) ®H1_ 5 33.57
448 &I B R
0. IR/ THRE (7T ) ®H1 5 32.17
1. FE Dk (8BE ) f1 8 32.90
2. 8l S#E (hk1E ) i 1 32.56
3. BEEERERE (& ) ®1 3 31. 71
4. Bl a4 (AR ) @1 2 31.63
5. {88 w8\ (B2 ) ®1 1 30.73
6. T EE (Kl ) i 6 32.29
1. BHR B (FHER ) ®1_ 4 32.08
8. B =8 (K#0 ) w1l £
9. ATE (K ) Bl 9 34. 31

5#H b= ] Bl
0. i+ #A (KER ) &1 7 31. 47
1. B EKX (F@m ) H1 9 31.71
2. tE REE (Fm ) ®1 6 31.23
3. BH X NNk ) 1 8 31.70
4 BE B— 3] ) 1 4 30. 46
5. B% o0& (TR ) 13 30. 41
6. T A (BEnmE ) ®1 2 29.92
1. M BRR (F5ith ) 11 29. 88
8. st =1 (FAER ) ®1 5 30. 83
9. T = (A ) H EiE
648 &EIE B R
0. T &tk (JmmEm ) 19 30. 61
1. BB D (BBith ) 1 8 29.94
2. WEE & (RREEEE ) 1 5 28.97
3. FZEEN (& ) 13 27.71
4. x0O {EH (F ) Bl 2 27. 46
5. MENERE (K ) H1 1 26. 95
6. €81 ¥R (FER ) 1 4 28. 26
1. =H = (A ) ®Hi EiE
8. mH HmE (€:7ic] ) 16 29. 30
9. ®KH % (GEEN| ) Hi 7 29. 36
No. 59 EBF 50m HE/BF A A LRRE
& 14:06
BR 2213 XL 24.74

148 &I B
0. ( )

1. ( )

2. BEBAMN NN ) ®2 3 37.22
3. HEEmt (& ) 2 4 41.53
4, HFO % (R ) ®2 1 34.82
5. BRIEZN (R ) H2 2 35.30
0 ) (& ) 2 i
1. ( )

8. ( )

9. ( )
248 &EIE B
0. BBl #E % (BHAIXS ) ®H2 8 35. 71
1. KEF # (EE ) B2 4 33.78
2. ME &KX (xAagxr ) H2 2 33.57
3. Bt = (hk{E ) ®H2 5 34. 40
4. ARTEHR (axR ) w2 K&
5. ik =PE (Jnmde ) ®H2 3 33. 64
6. FE X (NIIWm ) ®H2 17 35.06
1. FHAKEX (KO ) 2 1 33.34
8. Wl X (xT1ss ) H2 6 34.72
9. fnEE EEHM (BOHAIXS ) 2 9 37.97
3 &g B R
0. 28 X# (BEBR ) 2 9 35.07
1. FH S (E&W ) H2 3 32. 11
2. {258 HIHE (F55th ) H2 6 33. 36
3. B& EA (EE®R ) ®H2 10 35. 71
4. B EX (K ) ®H2 4 32.99
5. WA &% (BER ) B2 2 32.43
6. & HEwx (858 ) ®H2 8 34.39
1. AREIHER N\ ) ®H2 5 33. 01
8. FH KE (BEBR ) ®2 7 33.74
9. Kk KZ (BEnmE ) H2 1 31.79




No. 59 BF 50m HBHHEF 2 A LR No. 60 BF 50m HBHHEW B A LR
R 2 4 14:06 thE 3 4 14:14
EE 22.13 & 24,74 EE 22.13 & 25.07
448 EE B 148 EIE R
0. #¥ WA (hh1%E ) H2 6 32.23 0. ( )
1. BB = (BEH ) B2 8 32.34 1. ( )
2. B Et# (EB® ) ®H2 1 31.08 2. LB B (KOs ) &3 3 33.52
3. BE B (B ) B2 4 31. 91 3. fEE EEX (0H ) ®3 3 33.52
4. EARLEZD (H&ER ) &2 2 31.69 4. BA PWE (EA ) ®H3 2 32.35
5. EHEEZ A (0H ) ®2 7 32.30 5. hft 1% (EA ) ®3 1 31.66
6. B =i (BEB® ) ®H2 5 31.92 6. RE B (7 ) ®H3 6 34.70
1. HE = (K& ) ®2 9 32.74 1. AER # (BEom ) #:3 5 33.67
8. Al =P (B8 ) ®H2 3 31.84 8. ( )
9. F B HE (EREESH ) H2 B3 9. ( )
5#H &EIE B R 248 &EIE B R
0. #2IF HREE (hh1E ) B2 9 33.12 0. 8 f{AX (EREE8E ) $3 8 33.08
1. % ## (818 ) &2 7 32.08 1. fE kth (KOs ) ®#3 10 33.30
2. KT ER (T ) ®H2 1 29. 32 2. HFET B (EHm ) ®3 5 31.53
3. NE L (NMhR ) ®H2 5 31.15 3. BEE EH (EREESE ) $3 4 31.04
4. F EME (F—EE ) B2 4 30. 51 4. MR HE (FHEmE ) ®3 3 31.03
5. #JIEKER (BE®R ) 2 2 29.95 5. MAEEX (EREBESE ) @H3 1 30. 43
6. 2@ X (TBE ) H®2 B3 6. 52 EH 9/ ) 3 2 30. 48
1. B HXK (HFH ) ®H2 3 30. 25 7. i\ ]X (BE% ) ®H3 9 33. 27
8. BkEKXH (&1t ) ®H2 6 31. 41 8. kO ERE (BEE®R ) ®3 6 31.69
9. £% B (1R ) B2 8 32.52 9. RIREAKER (et ) &3 7 31.75
618 EE B 348 EIE =15
0. IRZTFTEREAE (&BW ) ®H2 8 30. 30 0. fiT +ARF (7 ) ®H3 1 28.32
1. 4t EAE (HER ) ®2 10 30. 61 1. KT B& (RE&ER ) B3 4 28. 89
2. & BiiE IIWm ) ®H2 3 29. 41 2. BE BAE (B1de ) &3 10 30.13
3. Bl ik (BARE ) B2 9 30. 55 3. JKBHAER (7T ) ®3 2 28. 54
4. Bk B (B8:th ) B2 2 29.37 4. BFH @E (4% ) ®3 8 30. 01
5 18 e (hh1E ) ®H2 4 29. 47 5. NE 1K3& @ s ) ®3 7 29.55
6. ithi& (B (BEEB® ) B2 7 29. 88 6. iTiE EA (BEREE8E ) &3 5 29. 07
1. W e (FHH ) ®H2 5 29. 55 1. TEKEIS (&1t ) ®H3 3 28.76
8. HAKIELER (HHHE ) B2 1 29. 11 8. B#t == (et ) ®3 6 29. 46
9. HEX E=H (hh1E ) B2 6 29. 67 9. F#8 E2RI (& ) ®3 9 30. 09
7% b= ] B el 4 %8 b= ] B
0. FJiIB=zA (et ) ®H2 4 28. 61 0. BIE At (B KR ) ®H3 10 28.08
1. F  BX (BH® ) #H2 9 29. 47 1. &RE & (T ) ®3 6 27. 51
2. mHF 13 (FHE ) ®2 2 28.19 2. S i (E9m ) #3 4 27.11
3. EIF X (BA ) H2 B3 3. iTIE {20 (FakE ) ®3 5 27.37
4. BR EX (EE®H ) #2 3 28. 41 4. ikt 3L (F53th ) #3  1 24.61 X&H
5. MY WK (F—ER ) B2 1 28.10 5. JIItR  BikE (F—ER ) ®3 2 25. 74
6. FTlF 3R (B K ) B2 6 28.87 6. KT =& (RER ) ®3 3 26.95
1. A & (& ) ®2 17 29.12 7. U™ Ki (FHH ) #:3 9 27.76
8. wno = (HEE ) ®2 5 28. 68 8. Hir Fid (Bsom ) ®3 8 27.68
9. £% &L €7 ) ®2 8 29.33 9. KT Z# (xR ) #:3 7 27.67
s# EIE B ]
0. @Ml EF (F—ER ) B2 4 26. 69
1. $2ARBEARER (K#1 ) ®2 £
2. BB EXE (FEE ) ®2 7 27.25
3. HE 1K (KIER ) &2 2 26.56
4 —= R (BR ) #2 1 26. 44
5. |LiE  EiE (H K ) 2 3 26.57
6. Ff 24 (Reith ) ®2 5 26. 82
1. Bl RF (B ) 2 6 27. 21
8. =HEREA (& ) B2 8 28.03
9. Exk == (NNE ) ®H2 9 28.38




